JNUP'T'EMT

Ifaz—bc=oc,b2-ac=B,c2_ab=Yythen

what is ot e
—\\“bc* K

(a+b+c)(a+[3+y) Equalig %

(a)

€) —a+bse

W) 1

a+b-¢

a-b+e

Ifx-13isa factor of x4 + ox3
then the other factor will be :

(a)
(b)
e) " x4 2
)i x

X+ 1

X—3

A 2-digit number is such that the sum of the
number and the number obtained by reversing
the order of the digits of the number is 55.
Further, the difference of the given number
and the number obtained by reversing the
order of the digits of the number is 45. What is
the product of the digits ?

@ 5 P 4G 36
(b) LAl =G
C': 36
© 5 ©
@ 9 S c
AR 2o

o = N

e

G
8 days S
4.

If A and B can finish a work in 10 days, B and
how many days can A, B and C together finish
paC — 12
il
(c) P

C can finish the same work in 12 days, C and
A can finish the same work in 15 days; then in
half of the work ?

’,,(a’)/ 6 [ e
(b) BHdays -rA_:il/ 3

- \
(d) 3days

Ry
4._

aBAC, 2%
A =

o B0 s (3

=AY

’ ”’".’V‘%\

05

‘f\ Person borroweq = 10,000 at 12% rate of
Interest pe, annum compounded quarterly for
& Period of 9 monhg, What is the interest paid

by him t¢ settle his account after 9 months ?

9
(@) ¥ 997.97 o wip/
J |-oveeX ‘l?rr Y‘*‘;; | €0
(b) ¥ 947.47
(e ¥ 967.67
(d) = 987-87

For what relation between a and b is the

equation sin 6= 2" b

2+/ab ]
L roqy + LBy X2 G8

possible ?

(a)

() a<b . NP
)
() ax>b kit
e
d a>b
A1C: nlr)

Three persons A, B and C together can do a
piece of work in 36 days. A and B together can
do five times as much work as C alone;
B and C together can do as much work as A
alone. If A and C together can do n times as

much work as B alone, then what is the value

Nt R4C = 36
ofn? g O C-at
(a) 15 2:06_:551
; @
) 12 OrtGe S R
R s A
() 26 Bl
@ 8 n48= 50 A1C = N (»)
E*@: ‘\ A+A C" S
A@En h(ﬁ) ZL\'—%& W
o) A4 3 :—C:!’ =
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O Y 1 b r °
o)
2a 4b =
> L ez ? B —sgxen What is the value of 11.
B
18 ‘/—“2
——ya“ +c¢c” —b“ ?
|.a.:. @)
(a) 35 Q= 3 . o
a) J5 5 C !
(b) /355 b S
4
815 St 12.
i P At
@ 3V15 L &gt 025
~! 326 2
vg_g wo7\0 \ ‘\.g_i;.———
Zed6 £
9. The sum of deviations of n numbers from
10 and 20 are a, b respectively. If B =— 4,
a
then what is the mean of these n numbers ?
13.
A E
(b) 14
(@ 16
(d 18
10. If the median of observations
14.
12, 1, 8, 54, 61, 28, 45, 35, 21, 17
is M, then what is the value of 2M + 5 ?
()12 2y :
b) 28 SEAh
(c) 52
(d) 54
JNUP-T-EMT (5-A)

o ———

e
&

H :
ow Mmany real roots does the equatio™
Sk =X -3 have ?

rac%fl

=G

(2)  Onle one
(b)  Only two
(¢)  Only three
(d)

None

If x = 97 + 563, then what is the value of
f%/; + i ?
ik

(a)
(b)
(e)
(d)

= Ot O 3

Let L be the LCM and H be the HCF of two
given numbers. L and H are in the ratio 3 : 2.
If the sum of the two numbers is 45, then what

is the product of the numbers ? S
B 2% 2% 13

(a) 243 %98

4 486 Ba- A SR
ey 9
o+
(e) 504
(d) Cannot be determined due to

insufficient data

A man walks at an average speed of 3 km/hr
from his home and reaches office 40 minuteg
early. If he walks at an average speed of
2 km/hr, he would reach office 40 minutes late.
What is the distance between his is home _and

office ? | @

(a) 6km 52 w0 : @ /@‘9”
(b) 8km Wil o
(¢) 10km a S
(d 12km 2
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A~

o
) )
65 2
15. If3x~1+33—x=6’thenwhatis?i“1+23—x 18.
faqualto? S 948
e
(b) . 3
(¢ 2
) 1
. Of,‘
tt bz
19.

BB I x|[a-—b+ Gl =y|la+b- ab ~and
‘ ¢ a—b a+b

2

g Sreeel s

x +y=2a% then what is x—y equal to?

<
49 ~ 2
_9K3 1 Yy
(a) 2b 8 |
- 3. X
() —2ab’ 3
9.1
© 2v° 3
(d 2ab®

17. Which one of the following is a factor of 20.
3./3x3 + 24/2y% — 18xy + 646 ?
@) V3= + J2y — J3
(b) 3x + J2y — /6
(c) ’3x2+2y2—J1_8x—\/1—§y—J§xy +6
(d) 3x2+2y2+ﬁ§x+J1—§y—J§xy +6
(.= A)

JNUP-T-EMT

YR

o
What is number of digits in the exp et lo
125'% 2 (Given log, , 2 = 0-301)
(a) 69
(b) 70
() 209
(d) 210
‘What is the HCF of
acx? + bex? + adx? +acdx + bdx + bed and
adx3 + acx? + bdx? + bex + acdx + bed
if HCF (c,d)=1,c = d?
(a) b.x +cC |
() cx+d
(c) ax+d
(d ax+b
If x®—py™+qz" is divisible by
x2 + abyz — bzx — axy, then what is B h
ag b2
equal to ?
(a) -1
(b) O
(¢) 1
d) 2
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91. Consider the following statements : 25
9( If (a+b) is directly proportional to
(a—b), then (a? + b2) s directly
proportional to ab.
9 Ifais directly proportional to b, then
(a2 —b?) is directly proportional to ab-
Which of the stateminﬁs glven above is/are
correct ? A b
(a) lonly O 0%
(b) 2only
(¢) Bothland2
o) Neither 1 nor 2
22, If(3a+6b+c+2d)x(3a_6b_c+2d)=
L 6h . ¢ 2d) « (3a + 6b— c- 2d), then|*®
which one of the following is correct ?
(a) ab=cd /\)KGA(
® ac=bd ¢
We) ad=hbc
(d ad+bc=0
23. If 3sin 8 + 5 cos O =5, then what is the value
of 5 sin 6 — 3 cos 0 equal to 2
(@ 5 el 1y [Ch% AL G
o 2 g 2
s . 2 S S
= 5
@ 0 e 27.
24. The combined age of a man and his wife is
6 times the combined age of their children.
Two years ago their combined age was
10 times the combined age of their children;
and six years later their combined age will be
3 times the combined age of their children.
How many children do they have lf each child
is at least 2 years old ? ?
(a) 2 Mawdz b2
b) 3
12 M-2 4 0~2 = 1o (67-2)
(e 4 q
@ 5 Miw)2 = 5(&’*)
(E2:=iA)

~ JNUP-T-EMT

What is

i ; 2
3 (sin x — cos x)* + 6 (sin x + cos ¥)” +

6
4 (sin x)8 + 4 (cog =)

equal to ? 9//4//+§ZoJo : /frb/é_fézab

(a 9

mX b
) L e
(o9 alil 0 9.._ bi— %) Lo >
: : )
e 13 CEICEY, % e
@ 15 (>
oinbe Yeh #

What is the value of sin 6 + cos 8, if © satisfies
the equation cot? 6 — (J3 +1)cot 8 + 3 =0

0<e<ﬁ?

: i
(c) J3+1 % gb e
: oLl
J3-1 ; 5
@ 2 .J’CLL_’L Ee
L ©

Which one of the following is a value of 0, if 6
satisfies the equation tan 20 tan 46 — 1 = 0;

18
0<b< =7

s 7o b (R

i
(a) 1—5 ‘{a”q 2_3( L'S‘ ‘&»O“VV 4'[“’(5‘)‘ ‘Lb

1 (s
() — N

15 280

A
@ e A
@ n J.L No'
2 9
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= wa

lan 0 V1
U6 , . 99
_ sin0O+cosO n ¥ ”
280 If tanx = 0, 2 <0< 5 then Consider the for Dibing. for She nei 00 (02)
items that follow
whatis V2 sinx equal to ? f2row
(a) sinB+cos0 3[?’ 2 1 s A flagstaff stands on the top of a vertical towerl The
il YQ o '3\ angle of elevation of the top of the flagstaff from 2
O om \{'} B BL certain place on the same horizontal level with the
© sin 04 cos 0 J base of the tower ig found to be o. Advancing <
# . -1 § .
; V%L— "\ngt'!— distance d towards the tower in the same horizontal
) "0 L1000 plane, the angle of elevation of the top of the
- LB uan o flagstaff is observed to be p and that of the top of the
) tower is observed to be y. Let H be the height of the
/2 QQQJ{/‘B top of the flagstaff from the base of the tower and h
29. How many values of 0 will satisfy the equation be the height of the tower.
(sin20— 4 sin 0 + 3) (4 — cos2 0 + 4 sin 6) = 0, Yo bt B2
where 0 < 0 < % ?
31. Which one of the following is correct ?
(a) None
(a) Htany—htanpB =0
(b) Only one
(b) htany-HtanpB =0
(c) Onle two
(d) Only three (c) H tan N htana=0
(d htany—-Htana=0
If xsin® 0+ ycos®0=sin6cos O and
x sin O —y cos 6 =0, for every 0 € (O, g) , then | 32. Which one of the following is correct ?
what is x° +y> equal to ? (a)ctdis H (cot a — cot B)
2
0
(a) T H (tan a — tan B)
B 1 2
fc) 2 (¢) d=H (cot a—cotp)
d 3 (d) d=H (tan « - tan p)
UP-T-EMT (11-A)
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chord

d
Consider the following for hi oy fpo (028361 {18 chord AB s ibtends an angle & =5 hen
nsi :
items that follow: CD subtends an angle p at the centre O
3 ) 2
ABisa gtraight road leading to the foot P of a 1oWe~ what is the value of tan (—g—) —tan| o
of height b- Q is at distance X from P and R a2
distance y from Q (R is farther from P than @& B o 3
Q are on the same side). The angle of elevation of 4
the top of the tower at Q is twice of that at R
90 = 2 tan 0 ) (b) 5
(Use the formula ta0 9= 777 9 o 55
(c) L
33. Which one of the following is correct ? 2
@) x=Y o _1%
b)) x<¥
©@ x>y
(02)

(@ Cannot be concluded due to insufficient Consider the following for the next #20

data items that follow :
Let p=x*-y?2% q= y4—2z2x2, T = 74 — x2y2.
34. Which one of the following is correct ?

5L o)
(@) h*=x°-¥ 37. Whatis px2+qy?+12° equal to ?

g0, 5
(o) Ll (a) (x2+y2+22)(p+q+r)

(e) h2 =2 (y2—x?)
£ =7 b -&2+y2+z)(P+q+T)

(d) h2 = y2 —x2
© (2+22-x3)@-q-P)
Consider the following for the next two (02) @
items that follow :

x2+y2-22)(@-q-1)

Two parallel chords AB and CD of a circle are of
lengths 60 cm and 80 cm respectively. They are on

: 2 2 2
the same side of the centre O and 10 cm apart. 38. Whatis %2 (x> + ay® + 12°) + ar — p? equal

to ?
35. What is the diameter of the circle ? @ 0
(a) 120cm
_ (b) 110 cm )
l e (¢) 100 cm (c0 p+aq+r?T
‘ (d 90cm @ =x2+y2+ 72
 INUP-T-EMT (13-A)
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Consider the following for the next two (02

items that follow:

A right conical cap just covers two spheres placb’d

one above the other on a table such that it touches

both the spheres. Let r be
sphere and R be the radius of the bigger sphere:

the radius of the smaller

Let 20 be the vertical angle of the cone.

89. Whatis the height of the cone ?
2r2
&l R-r
9R?
b
) R-r
22 +R?)
(©) R-r
2 2
@ R
R—r
40. What is the radius of the base of the cone ?
2r2 tan 6
(2) R-—r
2
b) 2R“ tan 6
R-r
2 (r2 + RZ) tan 6
(c)
R~-r
2 2
@ (r* +R*)tan0
R-r
~ INUP-T-EMT (15

Consider the fOllOwing fOT‘ the next two (02)
items that follow :
A line segment AB is bisected at C and semi-circle®
81, 52 and Sy are drawn regpectively on AB, AC and
OB as diameters such that they all lie on same side
of AB. A circle S is drawn touching internally S1 and
externally Sg and Sg.
41. Ifris the radius of S and R is the radius of S2,
then which one of the following is correct ?
(a) R=3r
(b) R=2r
(c) 3R=4r
(d)T 2R =131
42. If m is the area of the circle S and n is the
area of semi-circle Sj, then which one of the
following is correct ?
(a) 9m=2n
(b) 9m=4n
() 3m=2n
(d) 7m=3n
A
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¢ two ( 02)
i llowi the mnex
Jlowing for the next two (02) Consider thellfo l-"wm_g for
? Consider the folto items that follow :
items that follow -
se const
)(x —b) M The total monthly electricity bill for & hou rtlonal .
Let ( (x m:) ) ~ x+ma)x+mb)’ of the sum of two parts, one ELS’R,TQBQ/;/O i
| i
| 20 m, a,b> 0. number of rooms and the other part 1S pI‘OPO i
| SR e n
to number of umts consumed. T wf/’;ﬂ .
electrICIty blll for a house with E§__ rooms hly
it
x? +ab 1to ? nsummg 240 unlts and T 320 is the mon d,
g e——————— al to ¢ L
4 o hati x2 + mzab e electrlmty blll fOI‘ a house Wlth 6 roomS
@ WD consuming 200 units.
: 0
&) - 3
£ A2 | 5
= 45. What is the monthly electricity bill for a hou
L with m rooms and consuming n units ?
g
(a) T (@0m+n)
2
) (&) =
i \\y T (20m +n)
il
. (40m +n)
) T ———
2
@ < __-(30112““)
44, What is x equal to ?
(a) ++/mab 46. What is the monthly electricity bill for a house
with 7 rooms consuming 300 units ?
(b) ++/ab
(a) <500 2.0X0)
(¢) £+2mab i)
BT 440 2
(d ++2ab e
(d) ¥ 300
JNUP-T-
P-T-EMT i
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(a)

(b)

(c)

(d)

Consider the

items that follow :

ney distribution is given below :

following for the next two (02)

- Agrouped freque
| Weelkly wages in Numbers of
Rupees (3) workers
2050 — 2650 5
9550 — 3050 10
3050 - 3550 K
3550 — 4050 8
4050 — 4550 9
4550 — 5050 10

10

12

15

20

distribution ?
(a) < 3,263
(b) < 3,383
(¢) T 3,413
(d) T 3,483

NUP-T-EMT

47. If average weekly wages earned by a worker is

F 3,520, then what is the value of k ?

What is the median (approximate value) of the

Consider the following for the next t

b (02)

items that follow :

A quadratic equation is given by

(@+b+0)x2—(2a+2b)x+(@+b-0=0

where a, b and c are real and distinct-

49. What are the roots of the equation ?

(a+b-c)
7| e
\M+b+c)

(b)

(c)

(d)

(a—b+c)
(a+b+c)

(—a—b+c)
(a+b+c)

<D

., (@+b-0)
@ tb+c)

50. Consider the following statements :

1

One of the roots of the equation is
always less than 1 if a, b and c are all

positive.

One of the roots of the equation is
always negative if a, b and c are all

negative.

Which of the statements given above is/are

correct ?

(a)
(b)
(c)

1 only
2 only

Both 1 and 2

M either 1 nor 2

(19-A)
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51. What is the radius of the sphere passing 54.
. through the corners of the cuboid with edges
and 24 cm ?
8 cm, 12 cm olune ?\/&1 i
(a) 10-5 cm B )
98—
by ldem ~ 20N
(¢) 2lcm
(d 28cm
55.
A lamp shade is in the shape of a part of a
cone and its top and bottom ends are circles
whose circumferences are respectively 30 cm
and 40cm. The perpendicular distance
between the ends is 6 cm. If the cone were to
be completed, then how far would its vertex be
from the top end ?
(@ 20cm
(b) 18 cm 8\4(”‘3% §6Y56'
{e) 12cm
(d 9Y9cm (h @
23~ |9
A sum of money at 20% rate of compound
interest per annum becomes more than
100 times in n years. What is the least value
ofn ? (Use log, /2 =0-301, log, 3 = 0-477) 57.
| Y 10Dy 110
(b) 24 0\6
(© 25 A
b
o g
IUP-T-EMT (21-A)

The corners of an equilateral triangular platz
were cut in such a manner that it for™®

regular hexagonal plate, What is the ratio ©
the area of the triangular plate to the aré2 °

the hexagonal plate ?
(a8) 2:1

(b) 3:2
() 4:3
d b5:3

Two equal arcs of different circles C1 and C2

subtend angles of 60° and 75° respectively, e
the centres. What is the ratio of the radius of
C; to the radius of Cg ?

(a) 4:5
(b) 5:4
()=t
(d) 3% 2

ABC is a triangle with sides AB = 41 cm,
BC = 28 cm and CA =15 cm. If D, E and F are
the mid-points of AB, BC and CA respectively,
then what is the area of the triangle DEF ?

(a) 63 square cm A 14
(b) 45 square cm

(c) 31'5 square cm e

(d) 22-5 square cm

A triangle has sides 13 ecm, 14 cm and 15 em

long. What is the length of the smallest
altitude of the triangle ?

(a) 11cm

(b) 112 cm 2
() 12 cm 1o &
(d 12:2c¢m
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The circumference of a circle exceeds the

58.
: diameter by 168 cm. What is the diameter of
22
the circle ? (Take T = T )
(a) 624cm
8 (S
e
(b) 642cm lf% 5 \6 IR
5 \0(5
(C) 764 cm z{f %‘{d 2 =
e
(d 784cm ,

59. The hypotenuse AC of a right-angled ABC is
35 cm. If AB is doubled and BC is tripled
such that ABC remains a right-angled
triangle, the hypotenuse becomes 15 cm. What
is AB + BC equal to 2 g

(prsh &0 7S
(a) 10cm SR - i 915
Ay e
(b) 9cm L‘Z '
© 2J/5cm
(d 8cm
60. What is the area of the region between two

concentric circles if the chord of the outer

circle of length 14 cm is a tangent of the inner

4

circle ? (Take . = 2 ) A
7 4\\ %
(a) 125 square cm
(b) 132 square cm
(¢) 144 square cm
(d) 154 square cm
INUP-T-EMT =9 Ql, 196~ }%3

:1’

62.

_A)

f

6l. A pendulum swings through an angle ‘;1
9° and its end describes an arc of lengt‘?

14:3 cm. What is the length of the pendulu™ *

22
(Take 1 = 7) (ér

88 cm

(a)
. 91 cm

(¢) 95 cm

(d) 98 cm

The arch of a bridée is in the form of an arc of
a circle. If the span of the bridge is 40 m and
height in the middle is 8 m, then what 1s the
radius of curvature of the bridge ?

y &
i

25 m :

(a)
(b)
(c)
@

(Rpidlet
i

‘&,/[

27 m
29 m o

31m

If a, b and c are the sides of a right-angled
triangle, where a > b > ¢, then what is the

63.

value of the expression
(a+b+c)(a+b—c)(a—b+c)(a—b—c)?

oo
el

¥ - A@

(a) 4b2c?
(b)
()

(d)

— 4b2c?
— 2a%p?
— 4a%p?
The cube root of X varies inversely as the

square root of y. X =8 when y = 3. What is the
value of x when y = Y3 2 2

64.

l
(a) 18 - .YO(” O( S‘L
(b) 21
() 24 o Rb_ W

r’@/‘ 27
A (9@, S )

\,2 3
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3 +
8. What is the LCM of x* + Lo By

Three solid lead spheres of diameters 6 Cm}; Boy3?
g cm and 10 cm are melted together and recas
ss @ solid sphere. What is the percentag® @) (x2—y?) (x4 +x2y2 4 y4)?
diminution of the surface area as compared 10 " L
the sum of the surface areas of \th‘? three (b) (x2 = y2) (x4 + 2x2y2 + yb) 0 /)ﬁ')
Doteren® el 80 U GDEARR VAR S, g-He O
b ,\ff 6X \] ’ . (C) (X6 o yﬁ) W
@ 2% 3 | ot &
BbA+ b @ S+y9 B e
- fip g Z ©
(e) 27% ; @ = D
@ 28%
69. Whatis
A solid sphere-of rad1us. 3 cm is melted to form o yg LI 2 yz ” ZZ _ 9%7
a hollow cylinder of height 4 cm and external e
diameter 10 cm. What is the thickness of the paua: 10 V6U§9-2 | 4-Y- q- 17
i e . ¥ =&
cylinder @ X & Y914 ;.:u‘ﬂlﬂ.
(@ 042cm G SR
5 :
; 2 o 2] ] _L‘i’-}fl——
(b) 046cm ®) e Ytz oo ol o)
X+y—2 i
(¢ 050cm -~ ~ oA
Lo 2X % © @
(d 1-00 cm (c) . %,
142
Three glasses P, Q and R have capacities in (d) _Z_YﬁZ_
the ratio 1 : 2 : 3. All these glasses are Zatiieag ﬁjﬂf- =
completely filled with mixtures of milk and DA e 2
water. The ratio of milk to water inPisl:2,
inQitis2:3andinRit is 3 : 1. If the content | 70. If tan A + cot A =2, where 0 < A < 90°, then
of all three glasses are put into a bigger what is the value of
container, what will be the ratio of milk to tan2 A +tan3 A +tan* A + ... + tan® A ?
water in the container ? 3 100 et 205 X ¥
(@)l L9 T e 3o
( 203 : 117
) T Lodl «ime ina
n —
(b) 203:157 | 20 TS L
; (¢ n-1
() 17291 258 't 9
@ 165:88 () n 0 logEg g o LRl
NUP-T-EMT (25-A) e
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\*};ﬁg ) S

2 9V
B b I e
Y S 2 L iyl
J\/z, /Q/ \/’1 v
Which of the following is/are
identity/identities ? wdos A oD
identity/ident1 ;l"’ G Ry

sin3 0+ cos3 0
EL N Sttt S0

+sin 0 ¢ =1
sin 0 + cos 0 oY 1’0<0<’2‘

X

\}/ 1 — sin® 0 = cos? 0 (cos* 0 + 3 sin?2 )

Select the correct answer using the code given

Which one of the following is a factor of

Va0
2 2
ol R S : b .
;4 Hﬁ)p (b—a)(c_a); q = Tm l‘é
“o & %
‘[r=m t"henWhatls(p+q+r E/
| L /
- \ L)
equal to ? Pl 2A 'A‘// . )
()Y ‘L.l’ A %Kﬁ \b
(\ (‘-/(\ &Y §§Z ~
i ﬂ 5 \b& - )%
@ 0 oy 4
\& | b—1oE-
- 423 e 69

below :
(a) 1lonly \
nl
Mm) y qi LS
() Both1land2
(d) Neither 1 nor 2
O//Lt/%/«a oA = 2. .
u’
then what is tan 6 equal to ?
", yay [ )71
b 2 N .
36
X LEAH A A\flM e
Hh = !
e
A A &
yon® L
v

An isosceles triangle has its base length 2a
and its height is h. On each side of the triangle
a square is drawn external to the triangle.

What is the area of the figure thus formed ?

(a) 6a2+ 2h? + 2ah

(b)
(c)

(d)

NUP-T-EMT

Which one of the following is a quadratic

equation whose roots are a2 and B2 ?

"‘ 24 7%
(@) x2+(@2+b2)x+a?b2=0 o e

b) x2—(a2+b2)x+a%b2=0

6la o o) o) v
£t R E
422 + 2h? + ah ! (c) XZ-—(a2+b2)x—a2b2=0 ""Q—bﬁ @
ok
6a2 + h? + ah ._3:‘—%"’ Wk (A x2+(@2+b2)x-a%b2=0
(27i~A') | @
[ +245
- I oA A R s
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75.
aZ—b2—cz+£‘?c+a+b—c?
7L Y b ..9-»
() a+b+c+l SCHI e ~2.% -
'\W a—b-c+1 -2-341
Iy o/ o R Y a .—J—VLL@
“34] Y
(¢ a+b+c—-1 2 2
£a)—
(s, oy e SilEs =g B 10-2
z s 40 gl
Jou oy
= e |28y [aS D L
i
76. Let o and B be the roots of the equation
1 e Al
= ol §+E+E’a¢0’b¢0’x¢0'




) e Ifx = 66 i X > 1, then what is
# £
v AN
1y the value of x2 - 3x + 2 equal to ?
0
b 1
(&) « 18
d 20

78. A train completely overtakes two persons,
walking in the same direction with Speeds
3 km/hr and 4 km/hr i

n 9 seconds and
’?5 seconds respectivel_;y. What is the length of

the train ? 3xz;l . Lq__’ .15)

(a) 60m 5 &
Aﬂﬁ/éém gl

() 55m WY 1 ¢

@ 675m ¢,

A person bought an article and sold it at a
profit of 20%. Had he bought it at 20% less,
what would have been the profit percentage if
the selling price had been the same ?

@ 25% yzﬂkﬁg
E o o ‘f
. 50% d ‘
0 (19
%%j/w% Ng%n/”*ﬂ

W ol

81.

82.

83.
Ist=a+b+c,thenwhatis
B4 (8~a)e~b) + (5~ b)(s ~ ¢) + (5 - c)(& — &)
equal to ?
@ (a+b+c)2 jov  goX
A
(b) ab+bec+ca
- (©  2(ab +bec+ ca) 00
(d) 3 (ab + be + ca) w(,‘i}%%
4 ! gl)/O"’
UP-T_EpmT (29-A)

A sphere of radiug 5 cm is dropped in a I'lgh;
circular cylindrica] vessel partly filled Wlt
water. The radius of the cylindrical vessel 1(Si
10 cm. If the sphere jg completely submerge
in water, by how much will the level of water
rise in the cylindrical vegge] 2

(a)

(b)

(c)

5

§cm ; |
5k o ’77(,&%’9’_

12 %LQ@{%HSQ%

D =D n ]

Consider the following statements :

1.

The angle in a sector greater than a

‘semi-circle is less than a right angle.

If two sides of a pair of opposite sides of
a cyclic quadrilateral are equal, then its
diagonals are also equal.

Which of the statements given above is/are

correct ?

(a)
(b)
(c)
(d)

Ifa, b, ¢ x, y,
(a+b+c)2_

(b)
(c)

(d).

1 only

2 only

Both 1 and 2

Neither 1 nor 2

Y_’
z are real numberg such that
3(ab+bc+ca)+3(x2

then which one of the following §
(a)

+¥2 +22) = 0,
S correct ?

8=b=c, x=y=zx(

D9 — |1
m

N (
qo

a=b¥¢=0, X:y:z_:l

a=b=c, x:y:z:()

‘g
P
T

axbHledx=y-, 5
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In a triangle ABC, angle B = 90° and p is the
length of the perpendicular from B to AC. If
BC = 10 cm and AC = 12 cm, then what is the

84.

value of p ? A \2-
@ B . S
a Sa % I
boNel aGe

10411 . §

(b) 3 e
i

() bl B e

J61 L.

1.2
d i \o
(d) o5

85. The mean of p, q, r, s and t is 280. If the mean
of p, r and t is 240, what is the mean of q and
59 Pw!qhyfr’fS-f}Z'ZQO!l’S’
@ 810 Partt- 00
(ol sl Q1819 00- 1?0
() 330 = @,@U Y ©
L7 340 e %

Consider the following for the next (05) items
that follow :

AB.C,D, E, F and G are cousins. D is thrice as old
asA. Furtixer, C is as many years younger to B, as G
to E and E to D. The average age of D and G is
16 years; the average age of A and E is 11 years; the
average age of B and C is also 11 years. B and C
have equal weight. A’s weight is 10 kg less than that
of B; D is 4 kg heavier than E; E is 4 kg heavier
than F; F is 4 kg heavier than G. Further, D has
age-weight ratio of 9 : 20, where age is in years and
Weight in kg; A has age-weight ratio of 2 : 5.
Moreover, none of them is more than 40 kg.

86. What is D’s age (in years) ?
@ 15 9259 ¢
- 2
: @ -Brn G
(b)edo R-C~ E- G
(c) Felf 09 0.0, 00~ = B2~3K
(d 18 79 -20=—l0-44
Bt D roe menace iy
DAtz 0® op-Cr -6
BACap B: 22-C
A6 M

What is the average age (in years) of B; (612

87.
E and G ? : fﬁ
i g1 1
@ )Gttt
(b 13
(c) 14 /
@ 15 S,
) I
g8. What is the difference between the weights
(in kg) of G and C ? On .+ 124 16414
. 5 e R A s
@ 4 9% P <
3 D= (8
2
) 2 S
d 1
89. What is the average weight (in kg) of A, B, C,
[ 2% %8
D,E,Fand G? 15
201 [t
i e
.4 O
197 D e ¢ D 3 6. )
(b)y — 1 fo "9
7 L 9. &
O A& S T
(© 30 - N ®)
‘f/ \’\/\, _:;%
d 32 s
90. Consider the following statements :
i The age of F cannot be determined due

to insufficient data.

Mle average weight of D and F is equal

to weight of E.

3. The weight difference is maximum for D
and A.

Which of the statements given above are
correct ?

(a) 1and2only D . 3',’20
"
E(by2and3only
(¢) 1and3only
(d 1,2and3
O~ 22 =D P.3 A
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e b : e :ch 18
Consider the following for the next ten (10)|93. Question : What is the 3-digit number whic
. jtems that follow : divisible by 10 ?
‘ Mark option (a) if the question can be Statement-1 :
answered by using one of the statements If the digits in hundred’s place and ten’s place
alone, but cannot be answered using the other of the number are interchanged, the resulting
statement alone. number is diminished by 180.
Mark option {b) 1‘f the question can be Statement-II :
answered by using either statement alone.
: , : If the digit in hundred’s place is halved and
Mark option (c) if the question can be digit in ten’s place and unit place of the
answered by using both the statements number are interchanged, the resulting
together, but cannot be answered using either it dimimahid by 336
statement alone. g
Mark option (d) if the ti
e - Ausstion,cannot jbe 94. Question : Are x, y, z equal, where x, y, Z are
answered even by using both the statements eal Aumibers?
together. ;
Statement-I :
x2+y2+zz—xy—yz—zx=0
Question : Is m > n if m, n are real numbers ? Statement-II :
Statement-I : x3+y3+2%—3xy2=0
m=(1-p) (% +p+1) and
9 95. Question : What is the ratio x : y : z equal to if
n=p+1) (P“—-p+1) < 55000
Statement-I1 : Siato et
m = pn X+Z  Z
y X
Statement-II :
Question : What is the other root of the Z-y _x
quadratic equation with real coefficients if one X 7
—4-4/10
of the roots is g ?
96. Question : What is the sum of two natural
Statement-I : numbers ?
The product of the roots is — g @3+ J10). Statement-I :
LCM of the two numbers is 144.
Statement-II : o o
atement-11 :
The sum of roots of quadratic equation is — 1.
One of the numbers is 72.
- NPT EMT (33—-A)

(\‘\/
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Question : Is average of the largest and the

smallest of 4 given numbers greater than the

average of the 4 numbers ?

97.

Statement-I :

The difference between the largest and the
second largest numbers is less than the
difference between the second smallest and

the smallest of the numbers.

Statement-I1I :

The difference between the largest and the

smallest numbers is greater than the

difference between the second largest and the
second smallest of the numbers.

98. Question:Is(a—b+c)>(a+b-c),wherea,b
and ¢ are real numbers ?

Statement-I :
b is negative.
Statement-II :

: ¢ is negative.

NP1 gy

99.

100.

< ¢ 1 6 pen EN >

(35-0A)

eﬂS;
Question - What is the cost of 15 P

91 pencils and 18 note books ?

Statement-I :

oks
The cost of 7 pens, 6 pencils and 5 note bo

is T 200.

Statement-I1I :
The cost of 3 pens, 8 pencils and 7 note books
is T 210.

Question : What is the area of the triangle
inscribed in a semi-circle with the diameter as

the base ?

Statement-1 :

The diameter of semi-circle is 20 cm.
Statement-I1I :

Two shorter sides of the triangle are 12 cm

and 16 cm.

} P4 21 et 18C

nQ O
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